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– 

 

 
      

    

 
      

    

 
   

TCP/IP , http , https  GPRS 

 – – 

 

  

 
 

 

 X 

  

 
 

 

 
   

1  False 

 

 

 

 
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 

 

 

    

 

   

 

 

      

 

– 

– 

 

 

 
 
Keypin 

 

1 – LET FI = 12 + 5 

2 – PRINT (X – X) \ 5 

3 – IF N <> 0 Then print X 

4 – Input m , h5 , t$ 

5 – Print A$ + B$ 

 
–F5 –Shift + F5 

–<F5 = RUN> –RunStart 

 

 

 
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 

  

  

  

  

 

  

 https 

  

  

  

  

 
 A > B AND B > C 

 let A$ = "Tawjihi 2017" 

 

1) 
 3 

2) 
mm  

3) 

 
4) 
 4   6 

5) 
redo from start 

6) 
End  

 

 


 

 


 

 

 

 

 



 

 
  

 

 

 Print 10 , , , , , , "B" 

 Print fix(9.66665) 

 Y = sqr(x ^ 2 + y ^ 2) ^ 0.5 

 Print 100 

 Print n + 4 

 IF A < 10 OR A > 10 Then print A 

    

 

  

  

   

  

  

  

 

  

  

  

   

 

 

 

 X – 2 > 4 * Y and 4 * Y > B ^ 3 

 IF X > Y Then Print X mod Y else Print Y mod Y 

 Print cInt((s*u*m + a*v *g) ^ (n+1)) 

 N = N + sin(60 * 3.14 / 180) 

 IF N >= 0 Then Input X else X$ = "JORDAN" 



 

 
  

 

IF X <> 5 Then 
 rem Exam 2017 
else  
 CLS 
End if 

 

– 

– 

 

 

 

Input X , Y 
F = sqr(abs(X + Y) ^ 0.5 – ((X ^ 3 – 4) + 2) / (5 * y + 1) 
Print F 

 

sum = 0 
for n = 4 to 44 
   if n / 2 = fix(n/2) Then sum = sum + n 
next n 
print sum 

 

for line = 1 to 5 
   print "Line" ; line , , , , , , 
next line 

 

(Start) 

 

Windows 

 

 

بالتوفيق والنجاحلكم مع أطيب التمنيات   

  


